B 3F
FEIE FERERI  JE1TBSDDEERl BEAS

B (A
BT DERS 2 Ok 20mME
=F11 20~|25~|30~|40~|50~|60~|65~|T70Om
SFiE TAm | 10/ | 16 (178|188 | 195 |5 10| Do | 30m | 492 | 50m | 64| 60m| it
ST 1,700 2 9 13 18 11 15 o4 80] 187] 195] 149 58 65] 204
X=I0 19 3 2 2 3 3 1
3 3 1 1 1
SRR 1 1
RUN 2 1 1
BEIMRE 13 3 1 2 1 6
JEEE 350 2 5 1 30 30 71 35 38 16 20 43
XS ERES
517 249 2 2 21 22 47 63 25 12 12 36
[EES 83 2 3 8 8 19 19 10 3 7 4
28 13 3 2 3 1 1 3
] 5 1 1 2 1
R3] 500 7 37 37 58 67 71 28 32| 142
BAE 44 7 4 6 11 11 1 4
IERAR 426 3 4 6 4 28 26 48 53 58 25 30| 135
FEDE 30 1 4 3 3 2 1 4 3 2 3 1 3
I 35 12 8 30 13 9 8 2 3
ZEER 65 11 6 25 10 6 5 1 1
R 10 2 5 1 1 1
s o 1 2 2 2 1 1
] 1 1
S
RBIE 44 1 3 5 O 8 7 3 3 5
BEE 21 1 4 2 5 2 1 2 4
HNED 23 1 2 1 7 3 5 2 1 1
55 s@slbl\ED 15 1 2 1 4 4 1 1 1
55 _RRDHDNEDE S 3 3 1 1
ZDMORIEIR 102 2 5 2 7 9 4 17 19 16 3 8 10
SBEERIEE 23 2 1 3 5 3 2 1 2 4
NENITIHE e 1 3 2 1 1 1
EEEA 17 1 1 5 4 4 2
RiEEE 1 1
BBEGER - ASTS 3 1 2
BRE 1 1
KiEES 30 1 2 1 5 6 6 2 3 4
ZDith 18 1 1 3 2 1 2 4 3 1
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